VOLUME OF PRISMS AND CYLINDERS ANSWERS
PAGE 1 - INTRODUCTION

THERE ARE MANY KINDS OF SHAPES THAT COME IN
MANY SIZES, SO LETS START WITH THE EASIER ONES.

HERE ARE THE FOUR WE WILL COVER IN THIS WORKSHEET. THE REASON THESE ARE EASIER IS BECAUSE
YOU CAN USE YOUR PRIOR KNOWLEDGE OF AREA TO HELP YOU FIND THE VOLUME. LET US BETTER EXPLAIN.

CUBE RECTANGULAR CYLINDER  TRIANGULAR
PRISM PRISM

IF YOU LOOK CLOSELY YOU CAN SEE THAT ALL THESE SHAPES HAVE THE SAME TOP AND BOTTOM AND PARALLEL
SIDES. THIS MEANS ALL WE NEED TO DO IS FIND THE AREA OF THE BASE AND THEN MULTIPLY IT BY THE HEIGHT.

IN OTHER WORDS, IF YOU CUT OFF THE BOTTOM OF THE SHAPE AND
FIND ITS AREA, YOU CAN THEN PLACE IT ON TOP OF EACH OTHER TO —
FILL IN THE ENTIRE SHAPE. VOLUME = AREA OF BASE X HEIGHT.

BN ﬂ®
W S
: HELPFUL EXAMPLE VOLUME = 12¢cm? x 7 cm
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! AREA =4 cm x 3 cm VOLUME = 84 cm
5 7cm _ 2 PLACE THE BASE
i FIND THE AREA AREA =12 cm ON TOP OF EACH
i OF THE BASE. OTHER TO FILL IN 7 em
/,Léxé_E_-___- - BASE 3 em THE SHAPE.
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4cm 4cm 4cm AREA OF BASE 7 BASES WILL
= = = > FILL THE PRISM
: 3. i
E I 4 meters : 6 inches
L . 5 inche31 Pt NN
radius = 5 feet a Z 4 meters = —
. 4 met . 10 inches
BASE 235.5 cubic. ft meters 64 cubic meters 150 cubic miles
o BASE
BASE 6 inches
4 meters
4 meters 10 inches
AREA of CIRCLE = 7T xr2 AREA of SQUARE = Length x Width AREA of _ [ Bgse of Hejght of ] =+
(A = nr?) \\ TRIANGLE Triangle Triangle
T =314 0
— 31 ;|J FIND THE AREA OF THE BASE AND THEN MULTIPLY IT BY THE HEIGHT.
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VOLUME OF PRISMS AND CYLINDERS ANSWERS
PAGE 2 - PROBLEMS

| THINK THE HARDEST PART ABOUT GEOMETRY IS BEING ABLE TO VISUALIZE A SHAPE
IN YOUR HEAD. THIS IS ESPECIALLY DIFFICULT WHEN A SHAPE IS TURNED OR ROTATED. %

| KNOW WHAT YOU MEAN, SOMETIMES THE BASE IS ON THE SIDE OR
FACING DIAGONAL AND IT IS HARD TO SEE THE MEASUREMENTS.
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EVEN THOUGH THESE SHAPES
—F g

MIGHT LOOK DIFFERENT, THEY
- ; ONE LAST THING BEFORE YOU START. DON'T FORGET YOUR FINAL ANSWER
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IS ALWAYS TO THE THIRD POWER. FOR EXAMPLE: 2 cm x 8 cm x 5 cm = 80 cm?,
BECAUSE YOU ARE MULTIPLYING THREE OF THE "cm" TO FIND THE VOLUME.

—

Find the volume of each shape. Use 1T = 3.14 for cylinders.

1. 2. : 3. r

7m E

8 mm i
4m /L """""""""""" 7
11m L,/ 3 mm
THE BASE IS 15 mm
ON THE SIDE.
154 cubic meters 7m 360 cubic mm 942 cubic yards
[N\
14 ft
4. 5. 20m 6.
5cm v 25 ft
10 cm

3cm

150 cubic cm 4,019.2 cubic meters 1,400 cubic feet
9cm
%
4cm & 2,

7. , 8. /) 9. N

7 inches 7 inches °.>/

~o
N
7 inches 14 cm %m

343 cubic inches 208 cubic cm 64 Cm> 2,826 cubic mm
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